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1 Predict the products of the following reactions. When more than one product is

expected, predict which product will be the major product. (40%)
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2 Show how you would accomplish each of the following synthetic conversion.

(20%)

:
K

S

—_ 3w

(a)trans-2-butene trans-1,2-dimelhylcyclopropane

@
(::[:COGH
CQOH
GHCH;CH;
— CI/ ©
CHz
C _— C\CH‘OH +  CHyOH

l’rl H/\

(b)

CH,0H
X

{c)hexancic acid

COOH

~—»  hexanal

OCH,



EIIA i NE= AN ol /i o o 1} 85 2 XA 5

R TR TH B AT LZ H B2 A

3. The acetoacetic ester synthesis generally gives best yield when primary halides
are used in the alkylation step. Secondary halides give low yiedls and tertiary
halides give pratically no alkylation product at all. (a) Explain. (b) What
products would you expect from the reaction of sodicacetoacetic ester and
tert-butyl bromide 7 (c) Bromobenzene cannot be used as an arylating agent in

an acetoacetic ester synthesis i the manner we have just described. Why not 7

(10%)

4.Give Structures for compounds A through C (10%6)
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5.Rank the following compounds in order of increasing acidity. (10%)
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6.1f 2-bromo-2-methylpropane is dissoved in aqueous ethanol at 25°C, a mixture
of (CH,),COCH,CH, (30%), (CH,),COH (60%), and (CH,),C=CH, (10%) is
obtained. Explain why ? (10%)
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